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Jamie had $6.50 in his wallet when he left home. He spent $4.25 on drinks and $2.00 on a magazine. Later, his frier
had borrowed the previous day. How much money does Jamie have in his wallet now?

A.$82.75
B. $3.25
C.$12.25
D. $14.25

Explanation:

Jamie had $6.50 in his wallet. To solve this problem, you subtract $4.25 and $2.00 from that amount:
$6.50 — S4.25 — $2.00 = $0.25. So, you are left with $0.25. Then. you add the $2.50 that your friend had
borrowed: $0.25 + $2.50 = $2.75. Therefore. Jamie currently has $2.75 in his wallet.

Two even integers and one odd integer are multiplied together. Which of the following could be their product?

A.3.75
B.9
C.16.2
D.24

Explanation:

The integers consist of all positive and negative whole numbers and the number zero. The product of

three integers must be an integer, so you can eliminate any answer choice that is not an integer. The product of
two even integers is even. The product of an even and odd integer is even. The only even choice is 24, and in
fact we can see that 2 X4 X 3 = 24.

Jerry needs to load four pieces of equipment on to a factory elevator that has a weight limit of 800 pounds. Jerry
would the average weight of each item have to be so that the elevator's weight limit is not exceeded assun
equipment?

A. 128 pounds
B. 150 pounds
C. 175 pounds
D. 180 pounds

Explanation: .

sit https:// /hiset/
To solve, first subtract Jerry s v‘d%.%h W‘gm the tg?gﬁs&a}mﬂccggnggéaﬂ H)%e: 600. Divide 600 by 4 (the
four pieces of equipment) to get 150, the average weight.
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In the figure, A, B, and C are points on the number line, and O is the origin. What is the ratio of the distance BC to dist

A 0 B C
I I |
I I I
-6 0 +5 +8
A.3:5
B. 8:5
C.8:11
D.3:11
/
Explanation:

The figure is a number line. So, the distance from point A to point B will be the difference of B - A. This is
5-(-6) =5+ 6=11. Also, the distance from point B to point C will be the difference of C - B, which is 8 -
5 =3. So, the ratio BC : AB will be 3: 11.

For the number set {7, 12, 5, 16, 23, 44, 18, 9, Z}, which of the following values could be equal to Z if Z is the median

A 11
B. 12
C. 14
D.17

Explanation:

The median of a set of numbers is one for which the set contains an equal number of greater and lesser
values. Besides Z, there are 8 numbers in the set, so that 4 must be greater and lesser than Z. The 4 smallest
values are 5, 7,9, and 12. The 4 largest are 16, 18, 23, and 44. So Z must fall between 12 and 16. Therefore, the
correct answer choice is 14.

In an election in Kimball County, Candidate A obtained 36,800 votes. His opponent, Candidate B, obtained 32,100
write-in candidates. What percentage of the vote went to Candidate A?

A.45.2%
B. 46.8%
C.51.8%
D. 53.4%

Explanation:
Candidate A's vote percentage is determined by the number of votes that he obtained, divided by the total

number of votes cast, ano/iBitHFRITIRIRAVBY B8 1S WaHR-C Bne/ eRRiMBISeYo a percentage.
36,800
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Ifx=2y-3and 2x+%y=3,then}r =7

|
w | e

o 0w

Explanation:

The given equations form A system of linear equations. Since the first equation is already given in terms of
x, it will be easier to solve it using the substitution method. Start by substituting 2y — 3 for x in the second
equation:

2x + L= 3
X %1—
2(2v-3) +E}f=

Next, solve the resulting equation for y. Distribute the 2 and then combine like y-terms in the result:

1
4}?—6+§}-‘:3
’ 6=3
27707

Finally, isolate the variable y by adding 6 to both sides and then dividing both sides by the coefficient of y.
which is ; (or. equivalently, multiply by 2 and divide by 9):

Question: 10

The figure shows an irregular quadrilateral and the lengths of its sides. Which of the following expressions best repr
guadrilateral?

m+2
m+3 m
2m
A m*+35
B. 2m* 45
C.4m+5
D.5m+5
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